
 

 

 

 

 

 

myF  :  -  fhyk;;  

ghlNtisfspd; vz;zpf;if  :  6 

 

 fbfhu Kfk; xd;wpy; nghUj;jg;gl;Ls;s Kl;fs; %d;iwAk; gw;wp rupahf tpgupf;f.  

 ghlg;Gj;jfj;jpy; 43> 44 Mk; gf;fq;fis ed;whff; tpsq;fpf;nfhs;f.  

 kzpj;jpahy Ks;> epkpl Ks;> nrf;fd; Ks; vd;gtw;Wf;fpilapYs;s njhlu;Gfis 
vOJf.  

 

 

fbfhu Kfk; xd;wpy; fhl;Lk; Neuj;ij kzp> epkplk;> nrf;fd; vd;gtw;wpy; vOJf.  

cjh :-  

 Neuk;  01.25.20 

 

 

 

 

 

fPNo fhl;lg;gl;Ls;s fbfhu Kfq;fs; Fwpf;Fk; Neuq;fis kzp> epkplk;> nrf;fd; 
vd;gtw;wpy; vOJf.  

  

 

 

 

 

 

1 kzpj;jpahyk; =  60 epkplq;fs; 1 epkplk; =  60 nrf;fd;fs; 
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khfhzf; fy;tpj; jpizf;fsk;> rgufKt – thuhe;jg; ghlrhiy 

ghlk;    : fzpjk; juk; : 6 thuk; : 4 



 

 

 

 

 

  

 

 

ghlg;Gj;jfj;jpy; 44 Mk; gf;fj;jpYs;s gapw;rp 4.1 Ig; G+uzg;gLj;jTk;.  

 ghlg;Gj;jfj;jpy; 45 Mk; gf;fj;ij ed;whff; tpsq;fpf;nfhs;f.  

 ez;gfy; 12, es;spuT 12, Kw;gfy;> gpw;gfy;> ehs; vd;gtw;iwr; rupahf tpgupf;f.  

 

 

fPNo jug;gl;Ls;s fbfhu Kfq;fspy; fhl;lg;gl;Ls;s Neuq;fis Kw;gfy;> gpw;gfy; 
vd;gtw;wpy; vOJf. (#upad;> re;jpud; vd;gtw;wpD}lhf Kw;gfy;> gpw;gfy; vd ,dq;fhz;f.)   

cjh :-  

  

 

 

 

 

          gpw;gfy; 1.30     Kw;gfy; 2.55 
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1 ehs;  =   Kw;gfy; 12 kzpj;jpahyq;fs;   + gpw;gfy; 12 kzpj;jpahyq;fs;    =   24 kzpj;jpahyq;fs;     
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 ,izf;f. 

12 kzpj;jpahyf; fbfhu Neuk; epak Kiwapy; Neuk; 

   K.g. 2.00    09:45 

   K.g. 4.30    16:30 

   K.g.  9.45    02:00 

   K.g.11.30    12:00 

   gp.g. 4.30    24:00 

   gp.g. 7.45    04:30 

   ez;gfy; 12.00    11:30 

   es;spuT 12.00    19:45 

 

 ghlg;Gj;jfj;jpy; 48> 49 Mk; gf;fq;fspYs;s gapw;rp 4.2 Ir; rupahfg; G+uzg;gLj;Jf.   

 

 epak Kiwapy; tUlk;> khjk;> jpfjp vOJk; Kiwia tpsf;Ff.  

 
 

 

 

fPNo fhl;lg;gl;Ls;s jpfjpfis epak Kiwapy; vOJf.  

1) 1987 [dtup khjk; 17 Mk; jpfjp 

2) 2010 khu;r; khjk; 08 Mk; jpfjp 

3) 2015 [{iy khjk; 01 Mk; jpfjp 

4) 2021 Mf];l; khjk; 11 Mk; jpfjp  

 

2020 brk;gu; 31 Mk; jpfjp ru;tNjr epak Kiwapy; 2020- 12-31 vd vOjg;gLk;. 

ghlg;Gj;jfj;jpy; 47 Mk; gf;fj;ijg; ghu;f;f. 12 kzpj;jpahyf; fbfhu Neuj;jpy; 
vOjg;gl;Ls;s Neuj;ij epak Kiwapy; vOJk; NghJ Neuj;ijf; fhl;Lk; 

tpjj;ijr; rupahdj; tpsq;fpf; nfhs;f. 
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 ghlg;Gj;jfj;jpy; 50 Mk; gf;fj;ijg; ghu;f;f. Neuj;ij msf;Fk; 
myFfSf;fpilapyhd njhlu;Gfis ,dq;fhz;f.  

 

 

 fPOs;s ml;ltizfis epug;Gf. 

 

 

 ghlg;Gj;jfj;jpy; 50 Mk; gf;fj;ijg; ghu;f;f. gapw;rp 4.3 Ig; g+uzg;gLj;Jf.  

 

 ghlg;Gj;jfj;jpy; 51 Mk; gf;fj;ij thrpf;f. kzpj;jpahyj;jpw;Fk; epkplj;jpw;Fk; 
,ilapy; cs;s njhlu;ig ,dq;fhz;f.  

 

 

 ghlg;Gj;jfj;jpy; 52 Mk; gf;fj;jpYs;s gapw;rp 4.5 Ir; rupahfg; G+uzg;gLj;Jf.  
 

 ghlg;Gj;jfj;jpy; 53 Mk; gf;fj;jpYs;s gapw;rp 4.6 Ir; rupahfg; G+uzg;gLj;Jf. 
 

 ghlg;Gj;jfj;jpy; 54 Mk; gf;fj;ij thrpf;f. ehs;> kzpj;jpahyk; vd;gtw;Wf;F 
,ilapy; cs;s njhlu;ig ,dq;fhz;f.  
 

 

 

 ghlg;Gj;jfj;jpy; 54 Mk; gf;fj;jpYs;s gapw;rp 4.7 Ir; rupahfg; G+uzg;gLj;Jf.  
 

 ghlg;Gj;jfj;jpy; 55> 56 Mfpa gf;fq;fisj; njspthf tpsq;fpf; nfhs;f. xU 

Ntiyf;fhf my;yJ xU epfo;Tf;fhf vLf;Fk; fhyj;ijf; fhzy; njhlu;ghf 

njspthf tpsq;fpf; nfhs;f. 

 

 cjh :- ghlrhiy xd;wpy; K.g. 7.30 kzpf;F fhiyf;$l;lk; Muk;gpf;fg;gl;lJ. K.g. 8.45 

kzpf;F Kbtile;jJ. ,jw;fhf vLj;j fhyj;ijf; fhz;f.  

 

  fhyk; 1 kzpj;jpahyk; 15 epkplq;fs; MFk;. 

nrf;fd;fs; epkplq;fs; 

120 120 ÷ 60  = 2 

300  

240  

420  

epkplq;fs; nrf;fd;fs; 

2 2 x 60 = 120 

8  

30  

58  

1 epkplk;  =   60  nrf;fd;fs; 

1 kzpj;jpahyk; = 60  epkplq;fs; 

 1 ehs; = 24 kzpj;jpahyk; 

vd;gjhy;> kzpj;jpahyq;fspy; fhl;lg;gl;Ls;s fhyj;ij ehl;fspy; fhl;Ltjw;F  mf;fhyj;ij> 

mjhtJ jug;gl;Ls;s kzpj;jpahyq;fspd; vz;zpf;ifia 24  My; tFf;f Ntz;Lk;. 

kzp    epkp 

  8    45 

         -    7    30 
    1    15 

 



cjh :-  rpupRkd tpj;jpahyaj;jpy; tpisahl;Lg; Nghl;bfSf;fhd tpoh K.g. 8.30 kzpf;F  

       Muk;gkhdJ. mJ gp.g. 3.40 kzpf;F Kbtile;jJ. tpoh eilngw;w fhyj;ijf;  

       fhz;f.  

 

Muk;gpj;j Neuk;   =    08:30 

Kbtile;j Neuk;  =    15:40 

tpoh eilngw;w fhyk; =    15:40 - 08:30 

    =    7 kzpj;jpahyq;fSk; 10 epkplq;fs; 

 

 ghlg;Gj;jfj;jpy; 56> 57 Mk; gf;fq;fspYs;s cjhuzk; 1> cjhuzk; 2 vd;gtw;iwr; 
rupahf tpsq;fpf; nfhs;f.  

 

 ghlg;Gj;jfj;jpy; 57 Kjy; 60 Mk; gf;fq;fs; tiuAs;s gapw;rp 4.8 Ir; rupahfg; 
G+uzg;gLj;Jf.  

 

 ghlg;Gj;jfj;jpy; 60 Mk; gf;fj;ij ed;whf tpsq;fpf; nfhs;f. fhyk; njhlu;ghd 
$l;ly;fisr; nra;Ak; Kiwiaj; njspthf tpsq;fpf; nfhs;f 

 

 ghlg;Gj;jfj;jpy; 61 Mk; gf;fj;jpYs;s cjhuzk; 1> cjhuzk; 2 vd;gtw;iwr; 
fw;Wf; nfhs;f.  

 

cjh :- 

 

  

 

 

 

 ghlg;Gj;jfj;jpy; 62> 63 Mk; gf;fq;fYs;s gapw;rp 4.9 Ir; rupahfg; G+uzg;gLj;Jf.  

 

 ghlg;Gj;jfj;jpy; 64 Mk; gf;fj;ij ed;whf tpsq;fpf; nfhs;f. fhyk; njhlu;ghd 
fopj;jy;fisr; nra;Ak; Kiwiaj; njspthf tpsq;fpf; nfhs;f 

 

 ghlg;Gj;jfj;jpy; 64 Mk; gf;fj;jpYs;s cjhuzq;fs 1> 2> 3> 4 vd;gtw;iwr; fw;Wf; 
nfhs;f.  

 

 ghlg;Gj;jfj;jpy; 65 Mk; gf;fj;jpYs;s gapw;rp 4.10 Ir; rupahfg; G+uzg;gLj;Jf. 

 

 ghlg;Gj;jfj;jpy; 66 Mk; gf;fj;jpYs;s gytpdg; gapw;rpiar; rupahfg; G+uzg;gLj;jp> 
ckf;F Vw;gLk; rpf;fy;fisj; jPu;j;Jf; nfhs;f.  

kzp    epkp 

  8    40 

         +   2    35 
 11    15                       75 
                +15 
 

60 

1 

1 

kzp    epkp 

  15    20 

         +   10    30 
    25    50 

 


